Autumn Test 6

1| Tof6= 2 X 10 = 70

3|29+1= q =351 — 146

7 _ 2
5| 5 5 — 6| 17X0=

7 | 39 +48= 8 =602 — 295

9 |45+9= 10(3+10=
426
1 =700 X 4 12|« ¢

13| 82 = 19| 6 X 31 X 5=
15| 396 = — 521 16| >+ 2=
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Autumn Test 6 (continued)

17 | 81 = ’ 18 | 7 X 1000 =

U U

1457 5

19 17255 20| 7 of60 =

U U
291|587 22 _ggg

O O
23| 36 = =4 24| 654 + 100 =

U U
25| 475 [Total marks /25)

U

How well did you do? — with zeros 8 | 22
Colour the numbers of the questions Multiples of tables 1 s
you gof correct. Square numbers 13117
+ or x by 10, 100 or 1000 2 10|18 | 24
Short x 12 | 28
Short +, including r 21 | 25
Fractions 5116 ]2

15117 | 23
+ 15116 | 19

1
Missing numbers 2
7

- 4 | 5] 822
6
1

M|122 1131418 |20] 23
213 9 11017120 21| 24|25

X
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